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(1)

1: YNU
2: NYU
3: YUN
4: UYN
5: UNY
6: NUY

(2)
(A)

interface

(B)

protected, public, F 7z (3{&MiT7x L

(©)

Museum (String name, String comment, T fee) {
super(name);
this.comment = comment;

this.fee = fee;

(D)

private T getFee() {  // protected, public {£8fiF T 3 \»
return this.fee;
}
private String getComment() {  // protected, public EffiFTH 2\

return this.comment;




(E)

implements

(F)
University(String name) {
super(name);
}
public void printInfo() { // public {E#fiFI1ZME < TH Wi
System.out.println("A%4: " + this.getName());
}
(G)
Integer
(H)

facilities[i] instanceof






